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Homework 

 

1 Find the area of the region that  lies inside  the cardioid   ݎ = 4ሺ1 + sin ݎ   ሻ  and outside the circleߠ = 4 sin August   1998   13 ߠ

2 Find the area of the region that is inside the circle  ݎ = 9 cos  ߠ
and outside the   cardioid   ݎ = 3 + 3 cos  May  2001  19 .ߠ

3 
Sketch the graphs of the polar equations 
ݎ    = cos ߠ    and   ݎ = 1 − cos ߠ ,   
  and find the area  that lies inside both graphs. 

28  July  2006 A

5 Find the area  inside the graphs of both polar equations 
ݎ                    = 1 + cos ݎ  and ߠ = − cos June   2004   22 ߠ

6 Find the area  inside the graphs of both polar equations 
ݎ                      = 3 cos ݎ  and ߠ = 1 + cos May   2005   24 ߠ

7   Find the area of the region that is inside the graph of ݎ = sin   ߠ
and outside the graph of ݎ = 1 − sin February  1995   2 ߠ

8   Find the area of the region that is outside the curve 
ݎ    = 2 + 2 cos ݎ and inside the graph of  ߠ = 6 cos January 1996   5 ߠ

9 
Sketch in polar coordinates the cardioid   ݎ = 1 + cos  and the ߠ
circle  ݎ = sin  and find the area of the region outside the cardioid ߠ
and inside the circle  

6  June   1996

10 Find the area inside both of the polar curves ݎ = sin   ߠ
and   ݎ = 1 − sin    ߠ

7   August   1996

11   Find the area of the region  outside ݎ = 2ሺ1 + cos   ሻ  andߠ
  inside ݎ = 6 cos January   1997   8 ߠ

12 

Show that the polar equation ݎ = ܽ sin ߠ + ܾ cos  represents aߠ
circle whenever  ܽ and  ܾ  are not both zero , and find its center 
and radius.                                                             (2 points) 
 
Find the area of the region that lies in the second quadrant, 
 inside the graph of the  polar equation  ݎ = 1 + cos  and ,ߠ
outside the graph of the polar equation  ݎ = sin ߠ + cos   ߠ

(5 points) 

37  August 7, 2010

 


